sg = Oy(A)si 1 + P(O)e. (2.10)

v = Wo(0) + U1 (0)t + Vo (0)s: + we, (2.13)

Table 2.1: Conditional Distributions for Kalman Filter

Distribution Mean and Variance

s 1|(Yie1,60) N(§;_1|c_1, Pt_1|f_1) Given from Iteration # — 1

sel(Yiae1,0)  N(Sye—1, Pye-t) Seji—1 = P18 161

Pyji—1 = ®1 P 1)y 1Py + O P,
Ye|(Y1i:4—-1,0) *'I\Ir(gtlf—la Ft|t—1) Utfe—1 = Yo + Wit + Wasy g
Fii—1 = VB 195 + Xy

se| (Y1, 0) N (84, Pue) St = Seji—1 + Pt|:—111’§ﬂﬁl_1(yt — Ygje—1)

Pyt = P11 — P.+,|:—1‘I’fzp_1 Wy Py

tt—1
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